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VI Semester B.B.A. Degree (Private Registration) Regular
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Core Course
6B14BBA : ORGANISATION BEHAVIOUR

Time : 3 Hours Max. Marks : 40

PART - A
(Very Short Answer)

Answer all the questions. Each question carries 1 mark.

What do you mean by Organisational Behaviour ?

What is Organisational Development ?

What do you mean by Group Behaviour ?

What is Personality in Organisational Behaviour ?

Define Leadership.

What is Group Conflict ? (6x1=6)

PART -B
(Short Answer)

OF; iOn: s R 00 e

Answer any 6 questions. Each question carries 2 marks.

7. Explain the benefits of Organisational Development.

8. Discuss the nature of Organisational Behaviour.

9. Explain the features of Group dynamics in the Organisational Behaviour.
10. Explain the factors affecting the Perception in the Organisation Behaviour.
11. List out the factors influences the Personality.
12 Describe the role of Motivation theories in the organisation.
13. Discuss the methods to overcome Resistance to Change.

14. Explain the characteristics of attitude in the Organisation Behaviour. (6x2=12)
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PART -C
(Essay)

Answer any 4 questions. Each question carries 3 marks.

15. Explain the different Stages of Group Development in Group Behaviour.

16. List out the various factors influences the Organisational Change.

17. Explain the Operant Theory of Perception.

18. List out the different types of Conflict in Organisational Behaviour.

19. Explain the Theory of X and Theory of Y of McGregor in Motivation.

20. Discuss the different components of attitude in Organisation Behaviour. (4x3=1 2)

PART-D
(Long Essay)

Answer any 2 questions. Each question carries 5 marks.

21. Differentiate the Maslow’s and Herzberg theory of Motivation.

22. Explain the different Styles of Leadership in Organisation Behaviour.
23. Briefly explain different types of Conflict in the organisation.

24. Discuss the various determinants of Personality. (2x5=10)




